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1. DNA polymerase 6. single-stranded DNA binding protein
2. DNA ligase 7. telomerase

3. Restriction enzyme 8. UvrABC

4. helicase 9. RecA

5. DNA topoisomerase IT 10. primase
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1. (a) Please explain “wobble hypothesis”?
(b) 5°-UCU-3" is a codon in mRNA that specifies the amino acid serine in the position 72 of human
protein A. Please list all the possibilities including wobble hypothesis and also indicate the 5° and
3’ directions clearly in your answer.
(i) What is the corresponding anticodon in tRNA?
(ii) What is the corresponding triplet in the coding DNA strand?
(iii) What is the corresponding triplet in the template DNA strand? (10 %)
2. Describe how siRNA functions in regulation of gene expression, and how this can be used as a tool

in genetic research. (8 4-)
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1. Zinc finger domain

2. Enhancer

3. Epigenetic gene regulation
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A. U1 l. RPB1
B. U2 J. RPB2-
C. A repressor K. Rho

D. hnRNP1 L. TFIIA
E.o M. TFIIB
F. o2RR'w N. TFHD
G w O. RNAPII
H. a2Rr25 P. Cro
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1. RNAi
2. 454 sequencing
3. yeast two-hybrid system






